of A sinA — cos A 9] Ft



oh2 23 2ol A =90° 91 27}
AP A A oA HHo ™ &
Aol dhe H 2 513, AB = V5cem,
AC = 2cm, /BAH = x, /CAH = y
A o, cosx + cosy 9 G427

@ 2+245 ® 2435



3. cosA:Z A o], sinA + tanA ©] 27 (T, 0° <A <90°)
3V7 57 VT 57 VT
@ 4 @ 4 ® 4 12 ® 12



12
4. sin(90°—A) = 3 A off, tan A O] F2? (T, 0° <A <90°)

5 5 12 13
5

12
O @ — ® + @ @1—3



@ cos30°

3 tan45°

® cos45°



6.  tan60° x sin 30° — cos 30° X tan 45° 2] Zr&?

\/_

® 0 @ @73 ® Vi @ O1

DN | —



7.

2sin
45°
cos45°
~+ cos 30 ° si
in30°
9,] 7}
=7

@ 1+
@ 2+

V2
4

V3
4

@ 1+
® 2+

V3

4
V3

2

® 2+

V2



AZPAF71E ABC A 2xy 9]

ol
NI

ojn

Y

ol

@ 120 B 140

3 100

® 90

D 80



o2 18 Zoly =mx+n Y jaﬂiiﬂ-
x Z3} oFo] Hjgko & o] R Z+o] 975
2t o o, m g2 UhERd 220

D tana @ cosa-sina
1 cosa
. @ —
sina sma

tan a




b A7 F b 2 R

® tan45s° @ sin40° @ sin45°

@ cos 30° 3 cos 40°



ol

11. sin3x= A uff, tandx 9] F-S otk (H, 0°<x <30°)

SR
c



12. t& 139 AABC 94 AB =

12cm, AC = 15cm & o, s%nC 9]
sin B
422
3 4 3
@® é @ g ® 1
@7 O3



13.

@® CD =sin40°

@ BD =1--cos40°
——  sin20°
AC =

® sin 40 °

1
@ ACAD = §sin40°>< (14 cos40°)

1
® ACAO = isin40°




14. 0°<x<90°sin(x+30°) =1 ©, 2cosx x tan x 9] =27

D V2 @ 3 3 242 @ 243 ® 343



>

of

_zTu 3

2o

NN E
+1ﬂ,md_m
= 0 o
1_,_2ﬂ_|1|
yL_LoE
T M RE
N O BT
CEA
U
o™
op o7 B
T o0 ol




-
o
=
A
1o
oS
1o
ol
od
i)
o,
il
rlr
N
o,
[U%)
<
-0,
iy
rx
i)
=
A
i)
<
A
lo
Ll
it
T,

[N}

BN

By
i/

2l 25 o7t

B Tsfelet

=
=%

YEE
=%



L 5 - §
o TR 2ol QARE y = S+ 1 9] AW 2 3ol R E

Azte] A71E sa B & W, cosa 9] F1-2?

yl\

“A o] 7
5 17 5 7 12
®ﬁ ®ﬁ ®E @1—3 ® =



20 709
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44° 0.6947 0,7193 0.9657
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